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my str = "hello world"

# Print the first 5 letters

print my str[:5]

# Print all letters from position 6

print my str[6:]

# Print all letters from position 3 until 7
print my str[3:8]

$ ./my-program.py

hello
world
1o wo 3




Unicode ﬁ(?ﬂ@?&b\
BT ZBE <)
e unicode() & encode() BE# T UTF-8 =S

input_file = open("test file.txt", "r")
for my str in input file:
my_utf_Str = unicode( my_Str, "Utf—8" )

# Handle the string as a byte string
print "str: %s %s" % (my str[0:2], my str[2:4])

# Handle the string as a unicode string
print "utf str: %s %s" % (my utf str[0:2].encode("utf-8"),
my utf str[2:4].encode("utf-8"))

$ cat test_file.txt
BZENE
$ ./my-program.py

Str:
utf str: B
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best score[0] =0
for each node in the graph ( £IE)
best score[node] = «
for each incoming edge of node
score = best _score[edge.prev _node] + edge.score
if score < best score[node]
best score[node] = score
best _edgel[node] = edge
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score=0+2.5=2.5 (< x)
best_score[l] = 2.5
best_edge[l] = e
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best_s_core[O] =0

e Z5rE:
score=0+25=25 (< )
best _score[l] = 2.5
best_edge[l] = e

e ZEHE .
score=0+1.4=14 (<)
best score[2]=1.4
best_edge[2] = e,
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score=0+25=25 (< )
best _score[l] = 2.5
best_edge[l] = e
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score=0+1.4=14 (<)
best score[2]=1.4
best_edge[2] = e,
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best score = (0.0, 2.5,1.4,3.7)
best_ edge = (NULL, e, e, e_)
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best path =[]
next _edge = best edge[best edge.length — 1]
while next_edge '= NULL

add next _edge to best path

next _edge = best edgel[next edge.prev_node]
reverse best path
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best path =]
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best_path = [e ]
next _edge = best_edge[2] =
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best path =]
next _edge = best _edge[3] =
e Z58 .

best_path = [e ]
next _edge = best_edge[2] =

best_path =[e_, e ]
next_edge = best _edge[0] = NULL
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best_path =[]

best path = [e
next_edge = best_edge[3] = esLpd & e,

next_edge = best _edge[0] = NULL
%EEZI'_E:; WEICHEANEEZ -
best_path = [e ]
next_edge = best_edge[2] =

best_path =[e , e ]
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my list = [ 1, 2, 3, 4, 5 ]
my list.reverse()

print my list

$ ./my-program.py

[5, 4, 3, 2, 1]
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0.0 + -log(P( £))
0.0 + -log(P( BE))
best(1) + -log(P( Z ))
0.0 + -log(P( RE) ))
best(1) + -log(P( E#¥)))
best(2) + -log(P(42))
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load a map of unigram probabilities # 1-gram €7 /L DEEREN S

for each line in the input
# BIAERATY S
remove newline and convert line with “unicode()”
best _edge[0] = NULL
best_score[0] =0
for each word _end in [1, 2, ..., length(line)]
best score[word _end] = 10% # ECHRETRHEICHTE
for each word_begin in [0, 1, ..., word_end — 1]
word = line[word_begin: word _end] # BB X FH = ES
if word is in unigram or length(word) = 1 # EfFIEEZHNR S 1
prob =P _(word) # 1-gram BE& EE U

uni

my_score = best_score[word_begin] + -log( prob )

If my _score < best_score[word_end]
best_score[word_end] = my_score 37
best_edge[word_end] = (word_begin, word _end)
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# BEMEATYT
words =[]
next_edge = best_edge[ length(best_edge) — 1 |
while next_edge '= NULL
# CDOILyYDEDXFHZEMN
word = line|lnext_edge[0].next_edgel[l] ]
encode word with the “encode()” function
append word to words
next_edge = best_edge[ next_edge|0] |
words.reverse()
join words into a string and print
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e £/l : test/04-model.txt
« A7 :test/O4-input.txt

o 1Ff# : test/O4-answer.txt

* data/wiki-ja-train.word Z{£ > TF& U/ 1-gram £7)L T\
data/wiki-ja-test.txt & -2

. HEBEEUTORY YT kT

script/gradews.pl data/wiki-ja-test.word my_answer.word

e F{E (F-meas) ZRE

40



NAIST NLP 5 2 75 3 > 7 s 4 — Wiy

‘—

Fyr Ly

o data/big-ws-model.txt [CA>TW5, KDKESERTF
ANTEEEINEETIVZIRAUEDEBEZETS

o RAMZEBETILDODHE
e 2-gram EFI/IL = E o B

EalAN
0 /]

DI

[

allll

41



